Tafel van 10

Oefening 1 | Kleur de stappen en reken uit.

H+ 1D

0 10 20 30 40 50 60 70 80 S0 100

1x10=

I'I|I||H+BZX10=

0 10 20 30 40 50 60 70 80 S0 100

I'I|I||H+BSX10=

0 10 20 30 40 30 60 7O B0 S0 100

H—D | 4o-

0 10 20 30 40 530 60 70 &0 S0 100

IIIlIlIIII»5x10=

0 10 20 30 40 530 60 70 80 S0 100

III|||||||96x10=

0 10 20 30 40 30 60 70 &80 90 100

|I||I||||||>7x10=

0 10 20 30 40 30 60 70 80 S50 100

HHHHHP | s000-

0 10 20 30 40 50 60 70 80 S0 100

IIIlIIlIIII>9X10=

0 10 20 30 40 30 60 7O B0 S0 100

III|Il|||||>1OX1O=

0 10 20 30 40 30 60 70 20 S0 100
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Oefening 2 | Kleur de stappen en reken uit.

% 3x10 =

0 10 20 30 40 30 60 7O B0 S0 100

% 6x 10 =

0 10 20 30 40 30 60 70 20 S0 100

H—D |-

0 10 20 30 40 530 60 70 &0 S0 100

I'I||l|1_|_|_le10=

0 10 20 30 40 530 60 70 80 S0 100

|I||I||||||>5x10=

0 10 20 30 40 30 60 70 80 S50 100

I|I|I|II||I>9x10=

0 10 20 30 40 50 60 70 80 S0 100

I'I|I||H+BZX10=

0 10 20 30 40 50 60 70 80 S0 100

% 8x 10 =

0 10 20 30 40 30 60 7O B0 S0 100

HAHHD |00

0 10 20 30 40 30 60 70 20 S0 100

I'Illll'l_|+B7x10=

0 10 20 30 40 530 60 70 80 S0 100
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Oefening 3 | Vul de som in en reken uit

Q_| P X__=
1 1 |
o 1o 20 30 40 50 60 FO 80 90 100
m 4t | ——-
1 1 1
o 10 20 30 40 30 60 70 B0 90 100
m) —H—+—+—+bP _x__ =
1 1 |
o 10 20 30 40 50 60 JFO B0 90 100
Ll I l I) __X__ =
| 1 1
o 10 20 30 40 50 60 FO 80 90 100
X =
Ll ' .' B —
| 1 |
0o 10 20 30 40 50 60 FOo 80 90 100
P | ——-
I | |
o 10 20 30 40 50 80 FO 80 90 100
P |-
| 1 |
o 10 20 20 40 50 e TO 20 90 100
—X__~F
| || 1
o 10 20 30 40 50 e O 20 90 100
_X_=
1 1 |
o 10 20 20 40 30 e JO 80 90 100
_X_=
| 1 |
o 10 20 20 40 50 a0 FO 20 90 100
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Oefening 4 | Vul de som in en reken uit

| LI |
0O 10 20 30 40 50 60 70 S0 90 100
| LI | I l I;
0 10 20 30 40 S50 60 FO 80 90 100
Ll I l I;
| LI |
O 10 20 30 40 50 60 70 80 90 100
| LI |
0 10 20 30 40 50 60 70 20 90 100
| I I Ll l I I)
1 | I |
O 10 20 30 40 50 60 70 80 90 100
[
| L | I l I)
0 10 20 30 40 50 60 70 80 S0 100
L ' ' | — ' ' B
| LI |
0O 10 20 30 40 50 60 70 80 90 100
' I Ll l .l B
1 LI |
O 10 20 30 40 50 60 70 80 90 100
| LI |
O 10 20 30 40 50 60 70 S0 90 100
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1x10=

2x10=

3x10=

4x10=

5x10=

6x10=

7x10=

8x10=

9x10=

10x10=
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3x10=

8x10=

5x10=

2x10=

7x10=

10x10=

1x10=

6x10=

9x10=

4x10=
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x 10 =

x10 =

x10 =

x10 =

x10 =

x10 =
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x10 =
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x 10 =

x 10 =
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1x10= 1x10= 1x10=
2x10= 2x10= 2x10=
3x10= 3x10= 3x10=
4x10= 4x10= 4x10=
5x10= 5x10= 5x10=
6x10= 6x10= 6x10=
7x10= 7x10= 7x10=
8x10= 8x10= 8x10=
9x10= 9x10= 9x10=
10x10= 10x10= 10x10=
1x10= 1x10= 1x10=
2x10= 2x10= 2x10=
3x10= 3x10= 3x10=
4x10= 4x10= 4x10=
5x10= 5x10= 5x10=
6x10= 6x10= 6x10=
7x10= 7x10= 7x10=
8x10= 8x10= 8x10=
9x10= 9x10= 9x10=
10x10= 10x10= 10x10=
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